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ECONOMICS (General)

Paper Code : II-A
[New Syllabus]
Full Marks : 50 Time : One Hour

Important Instructions for OMR Sheet

1. Write / Fill your correct Subject Name, Subject Code & Paper Code
in the space provided on the top of the OMR sheet (Subject Codes
are given on the back of the OMR sheet & Paper Code in the

' | Question Paper.)

! 2. Write / Fill your Roll number, Registration number, Regn. Session,
\ Exam Date and Exam Session in the space provided on the OMR
: Sheet. '

3. Each item has four alternative responses marked (A), (B), (C) and (D).
You have to darken the circle as indicated below on the correct
response against each item.

4. Your responses to the items are to be indicated in the OMR Sheet
given inside the Paper Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.

5. If you write your Name, Phone Number or put any mark on any
part of the OMR Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, or use abusive language or
employ any other unfair means, you will render yourself liable to
disqualification.

6. You have to return the OMR Sheet to the invigilators at the end of
the examination compulsorily and must not carry it with you outside
the Examination Hall.

7. Use only Blue/Black Ball point pen. Use of any mobile phone,
calculator or log table etc. in examination hall, is prohibited.
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Answer all the questions in OMR sheet.
Choose the correct answer.
Each question carries 2 marks.
1. T which of the following markets firms bear selling cost ?
(A) Perfect competition
(B) Monopolistic competition
(C) Monopoly
(D) All of the above

y | TERRe @W W@E IS T [ w97 I 2
(A) sfeferaienEe e
(B) asrsioa afetaifenEe A
(C) «zsioal et

- (D) BARIE T 4@ A

2. Which type of profit a perfectly competitive firm eams in the long run ?
(A) Normal Profit
(B) Super Normal Profit
(C) Negative Profit
(D) All of the above

3| @35 o eferaifronE wi AR R s el e 5 2
(A) FreIRs Il
(B) FreifRe wiusrm wfge i
(C) AMIS =
(D) TG 3 LD T
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3. hmseofpmecﬁmmmuummthemaﬂcetmﬁﬂngtnelasucuyofdemmﬂ,

- price is —
(A) Lesst};anﬂwpdceinﬂlemarketwithlbwerelasﬁcﬁyofdemand .
(B) Higher than the price in the market with lower elasticity of @emand
(C) Equal to the price in the market with lower elasticity of demand

D) Maybegrealerequalorlessthmﬂnpnoemmmkctmﬂﬂowuelasﬂcny
of demand

©| WY "N@ﬂt‘ﬁ mwf‘wfiﬁmw TR AR T W —
(A) I YRS TIT ISR ST I L
(B) T AR T AR WA @
(©) T YfRoITo! T AR TG ML TR T
(D) ¥ TRl M A 7N @, T A A @3&

4. Tn which of the following markets there is only one buyer ?
(A) Perfectly competitive market- -

(B) Monopoly .
(C) Monopsony

(D) Oligopoly
SIWWWWWWWW?
(A)qﬁa%mﬁ‘mww '

(B) GFHHA IER
() TR
(D) Sfetsisfe arem
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5. Number of sellers in a duopoly market is —
A1

B) 2
©) 3

D) 5
¢| G@eifE arsE Rieer MRl Ze —
(A) >
B) 2
(C) ©
D) ¢

6. In monopolistic market, the elasticity of demand at equilibrium point is —
(A) 0 (zero)

B) 1
(C) less than 1

(D) greater than 1
o1 G TS ST FATS SRR RReRAT S —
&) © ()
®) >
(C) s SoPF W
(D) > S @A

Tiwrn Over
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5. Number of sellers in a duopoly market is —
A1

®) 2
© 3

D5
¢ | GEeifE AR Reror MYyt e —
A) > |
®B) *
(R
D) ¢
& Tioimitiiic market, the elasticity of demand at equilibrium point is —
? (A) 0 (zero) : :

®) 1
(C) less than 1

(D) greater than 1
(A)-0 (1) -
® 3
© bW’C’!"ﬂW.
: D) > S N
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7. If Px is the price of good X, then Px.MPP = 9
(A) MRP
(B) MR
(C) VMP
(D) AVC
41 30 X W W Px T, O Px.MPP = ?
(A) MRP
(B) MR
(C) VMP
(D) AVC

8. The rent that disappears in the long run is called —
(A) Differential rent

(B) Scarcity rent

(C) Situation rent
(D) Quasi rent

b | AR @ A (HIP AR OIS el 7 —
(A) ALFETE A
(B) TRiIeIEis e
(C) SEEfTe g
(D) &ifF et
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9. If price level rises keeping money wage of the labourers unchanged, the
real wage of the labourer—

(A) Decreases
(B) Increases
(C) Remains unchanged
(D) Cannot be said
o | wfirea wifds o weifdafSe @ W urra wewe Ifa SR e =i
oS AH—
(A) ™ #l
®) Ifa A
(C) w=fafEs Az
(D) 92 F=(F (@ T I W@

10. Which of the following banks in a country can print note ?
(A) Central Bank

(B) Commercial Bank
(C) Non banking financial institutions

(D) All of the above
so| fT=l X® @9 IE (T @16 2A5ER SEIal 2
(A) (T AT '
(B) afafens s
(C) s/E Y afedm
(D) CoEAE 31 IF
Turn Over
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11. According to Keynes ‘inflationary gap’ is defined as—_

(A) Excess of aggregate su % ate de
pply over a gre
I y ggreg emand at less than full

(B) Excess of aggregate supply over aggregate demand of full employment

(C) Excess of aggregate demand over
gregate
employment "‘8 gate supply at less than full

(D) .Excess of aggregate demand over aggregate supply at full employment
33| ST RINCR WS A IR 20— |
(A) oot Ss e s T@E @i cwam % sifT e

IO (N zH
@)gﬁmwmmmmmmwwm
=
(©) e eyl et s W GG :
[ .

12. In which of the following sntuauon demand pull inflation occurs ?
(A) Full employment
(B) Less than full employment
(©) Both in full employment and less than full employment situation
(D) When supply equals demand -
ulﬁﬂﬁﬁw@mmﬂﬁmmmﬁsﬁW?

(A) = Fear s

B) wis frast sy

(C) = fAraer @z e Azt Sox sy

(D) 3% BIEH @R @I W 27
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13. Which of the following methods is effective in controlling inflation ?

" (A) Reducing bank rate a
(B) Reducing government expenditure
(C) Reducing cash reserve ratio (CRR)
(D) Reducing tax rate

so| F5fRe @R +%feh wrdfe Famd st 2
(A) IR I 3
®) R TH T
(©) aﬂwmﬁmmw

S (D) IR A T A

14. Which of the following economists is associated with the theory of
comparative advantage of international trade ?

(A) Adam Smith
(B) Alfred Marshal
(C) David Ricardo
(D) J. M. Keynes
s8| frsfalRe oW SRIRRTE AW Srwsiies A pemhEe IS SET
AMAYE 2 - : ' ;
(A)Gm@mﬁm
B) WS T
©) cofen Rired
D) (& @, @
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15. If the rate of taxation inc ith i i
reases with increse in taxable inc
system is said to be — | ome then the ax

(A) Proportion
(B) Progressive
(C) Regressive
(D) Value added

>e|mwwmmwﬁmwmﬁmwwwﬁm~
(A) rgeife
(B) 2sifes
(C) Statsifefia
D) Tye

16. Indian currency was devalued in the year -
(A) 1991
(B) 1996
(C) 2001
(D) 2006

AN

(A) Sodd
(B) sov
(C) 00y
(D) 200y
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17. In India, Employees’ Provident Fund Act was passed in the year —
(A) 1947

B) 1952
(©) 1965
D) 1971

39 | ©RACe AFMA T ATSTTT TS IIZ O] W —
(A) >584 A
B) Sse3 A
(C) svve Al
(D) 9> A=A

18. In India which of the following taxes is not under the jurisdiction of the
states ? '

L (A) Land revenue
(B) Agricultural Income Tax
(C) Profession Tax

(D) Corporation Tax

so | frERiRe @ M SRTS AR I ASTIR TBEE T4 2
(&) g
(B)qsﬁwmwﬁw
© &=
(D) @r=ifa 39
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e

19. Industrial disputes mean the —
(A) disputes among industrial concern
(B) disputes between government and the industrial concemns
(C) disputes between the labourers and the leader of the union
(D) disputes between the labourers and the management of a concern

3o | PeReaiem o zEi—
(A) e s e aw Ry

(B)Waa:ﬁmmmﬁma
(C) =i gk =T i ol W [ty
O) e g W “vea g [Reag

method of production in Indiae., .

20. The small industries use mainly
(A) labour intensive
(B) capital intensive
(C) power based
(D) none of the above

30| ©RCS FU MHETE JoRFed Tl oiafs IJIRIT IR

(A) =wfRe

®) T R

(C) wf&RSa

(D) SoAEE b2 7
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21. In Indian tax evasion occurs mainly in —

(A) Service tax

(B) Profession tax

(C) Direct tax

(D) Indirect tax
3 | SiAT® I HIfF BN W ReFeI —

A) R IR FE

®) 3f& T oFea

(C) oTF IR CH@

(D) RAF IE CFE

| 2.. At present which one of the following is the most important import item in
India ?

(A) Petroleum, Oil and Lubricants (POL)
(B) Foodgrains
(C) Non electrical machinery
(D) Fertiliser
3| TEAH SIS FNAE SFGoY| TP T ({2
(A) coRGifera, (o= e fifEes smid (POL)
(B) AME
(C) SIGeF e
(D) 7
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23. In which five year plan ‘poverty alleviation programme’ was first adopted
in India ?

(A) First five year plan
(B) Fifth five year plan
(C) Tenth five year plan
(D) Twelfth five year plan

R0 | (I AR AT SRS &AL Tifdw wAPA TP’ 47 T 2 2
(A) 22 211 offeam
(B) A% 2SR
(C) ™ ~=eIRS A
(D) = =+ oA

24. One major argument in favour of protection is—
(A) Reduction in the volume of trade
(B) Growth of volume of trade
(C) Infant industry argument
(D) Better utilization of resources
38 | FAEEH( 2ITF 9F0 G YT TH—
(A) Afdtera sweER g9 ‘al‘;rc:n
(B) aifdcena Siwema 3 <ot
(C) M Mt I=ed
(D) TR AN JIZR WOIt
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25. A tariff is a tax which is levied on —
(A) Import
(B) Export
(C) Domestic production
(D) None of these

¢ | GF SPTE 9F P FF T TRAA FA W —
(A) SEmifE Tog
(B) YR T
(C) TeEA TeAME B
(D) (PR T
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P-H(1+1+1)G/17(N)
2017
ECONOMICS (General)
Paper Code : II-B
[New Syllabus]
Full Marks : 100 | Time : Three Hours
The figures in the margin indicate full marks.
Section - 1 |

1. Answer six questions taking any two from each of
the groups : 5x6=30

Group - A
(a) Define MPP, VMP and MRP.

(b) Establish the relationship among price, AR and
MR under perfect competitidn. '

(c) Point out the features of an oligopolistic market.

(d) State the conditions of Short Run and Long Run
equilibrium of a monopoly market. ’

Group - B

(¢) Distinguish between autonomous and induced
investment.
P.T.O.
4/112-1400

Digitized by the Librarian, Central Library, Malda College, Malda on 14th January, 2019, Page -16 of 19




UGB_UG_Question_Economics_General _ Part-11_ Examination 2017

(2)

() What are the advantages of direct tax over the
indirect tax ?

(g) Examine the effectiveness of Cash Reserve Ratio
a measure of credit control.

(h) Distinguish between Balance of Trade and
Balance of Payment.

Group -C

(i) What are the sources of revenue of a state
government ?

() Discuss in brief the importance of cottage and
small scale industry in India.

(k) What do you mean by devaluation of Indian
currency ?

(1) What are the basic objective of Indian Planning ?

Section - II
Answer all the questions : 10x3=30

3. Make a comparison between perfect competition and
monopoly.

Or,
How is the short run supply curve derived under

perfect competition ?

4/112-1400
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(3)

3. Explain with suitable example, the process of credit
creation by commercial banks.

Or,

Compare among Progressive and Regressive tax in
the context of developing economy.

4. Write a note on the role of NABARD in providing
rural credit in India. ‘

Or,

What are the problems of small scale industries in
India in recent years ?
Section - 111
Answer any fwo questions : 20x2=40

5. Define industrial sickness in context of Indian
Economy. What are the causes of industrial sickness ? In what
ways such problems can be managed ?

6. (a) Explain the causes of adverse balance of
payment in India.

(b) Recommend the policies to curve the situation.

7. Discuss briefly the objective and achievement of
India’s 12th five years plan.

P.T.O.
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8. (@) How equilibrium rate of interest is determined in
the Keynesian liquidity Preference History.

(b) Explain the effectiveness of monetary policy
when the economy falls into liquidity trap.

EEIBRIG
Section - I
1. oo Reis (@ ¥ @ o e« =
474 T WS : & xL=00
Group - A

(ay K@l w6 — MPP, VMP, MRP

(b) % LRRIPIORER IR 7, AR 4R MR 93
g T T 39|

(c) SEmatsif e [fFgel S 31

(d) G ASER FFIEN 8 L Iy
Safe TrErd 4|

Group - B
(ej Faege R e RFETR Ty oy 4|

4/112-1400

-11_ Examination_2017

(3)

(ﬂwwmﬂwawmsﬁmﬁw
|

(@) ¥ Fgrem efeFm R Fom Sl SAiiees
IfiEet oA Il

(h) ey T7E € EETH IR TG AL
e |

Group -C
@)WWW@@%&%%?
(j) ORTS 7 ¢ For R @wy S |
(k) SRS TER TR TS [ ERE 2
(1) SRS 2R AR T Srrnel & & 2

Section - 11
T AT Teq WS : YOXO=90

2. of efSraiTerER T ¢ B IS TG
A1fe e |

LA,

?HWM%@@W@N@W
@ [dre =31

PRI,
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(6)
- 3@'@@@%%%«#3&13@@ | 3
T T 8. (@) PRI 9T 3o ot wrg
| o, o Reffie 2 ¢ __ MARA R SR
S CrevR “AfReeee eeffie e SasfERia (b) T T |
OIEy IH oA
PRI Y P AN _ %Wﬁwww; T O Wi
4. SRTS AR ¥ FERCZ NABARD-«R g o o
Boig @3 DAl (| . .
T,
wﬁawwwﬁmwﬁlm
HicwAa ¥91
Eieétioml-- I

@ @R q ovam BEA e :  30x3=80 ﬁ
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